=Y

)

HiD
Ot

)

=(

1/3

[ 20180101 ~ 20181231 ]

Hio MO | 0 [ HO [ HD | HO | WO | HD | HO | HO Hio
o RO RO | KO | O | RO | RO | RO | RO | RO | RO | RO
=) ]l 1 1 1 1 A 1 Jn
ol ol | of | ol [of [of | of [of | of | of ol
oJ ol|lolJ|oal|ol|ol]|ol|o)]| al| ol ol
= =l =|l=|=|=|z|z|=|=| =
= - = g = = I = = 3 =
Y s|=s|s|r|s|=s |7 |0 x| |5 =
(e} (@] o o (e} (a»] (@] o (e»] o o o o
O (@] (@] (@] O (@] (@] (@] (@] O (@] (@] (@]
3 <o clelelelelelelelelel e <
[«) [« [@) [@] [«) [« [« [« [« [«) [« [« [«
O (@] O O O (e] (@] [e] (@] O [e] (@] (@]
- it Slelelelelelelelaelel e S
D [qN] Lo (@] (@] Lo (@] (@] LO (@] Lo (@] (@] Lo
ol ™ — — Yo} Al N <2} Al eV Nl <p} l<p} Al
WW — Nl ||| — ] o | o] =)
Sl = fio o |
| - | KEP e nlw| R 2R m|s|s]| ®
| < |NEE P52 m"s|xn|n| 5
R 20 =
R0 g0 (80 |®0 |R0 |®O |®O0 |RO0 |®O |®O [RO (RO 50
n 1V 1 B A 1 1Y 1D A O 1 1 Y B n
8| or ol |[of |oT ol |ol |ol ol |of |ol |[of |[of <l
- | ol ol |o) |o) |o) |o) (o) o) o) |o) |o) |o] ol
B T (B B o B | (B B g B | B[R |
ZTHO |ZHO (= H0|=ZH0 | H0 [ H0| == H0 | = H0 | = Hi0 | == Ho | = Ho = Ho
mm
=]
~
&
nE
7]
- T R e A A A A -
i 1D ol | o ol [ay mL o) | OJ mL ol mL ol mm
_A._ 0 D‘_ D\_ = D_ D._ D‘_ D\_ D‘_ D‘_ D\_ D‘_ ~
_ﬁ_w_. 80 ol | al ol |loll|laol|al|lal|al|al| al rr
- .| = = | — | _ o —
- | X| z | = __m __m ol | ¥ | 1o | o __w @IA._
K | x = X X Ol X X X X x x x x X = x
orl | x UK % X E X ¥ X X ¥ ¥ X ¥ X X
o R IS I O IS - A 0 I IO T - I o
o) Ko = Gla || AT g |
o1 or |of |of [o® o [oR) oM |of [oR [of o) on
E_m oF |k [k ik ik ik |k [l ik [doF iR {ioF ok
ot HID | m IO { oy PO | oy HID {0y B0 | oy HIO |y IO | oy HIO |y HID { ey M0 | oy HID [y M| iy HID
M8 | =0 |=ro|=no|= 10| Zrio|Zno|= o] = rio| 20| = 0| Zrin| Zrio| - =110
W | & |8 (& (8 |8 |8r (& |8 |8 & (& |8r Sl
= K K K [K K K |[K K K |[K |R =
=2}
— |
oll To)
@ |
3J =
Al
mm — N|lo|lv|lwv]o|~]l]o|lo|l2 | =N ™




S sgazs s% | sARTE E%}Q'Jl* 7'%15;,_9"‘“ Lo Zzo | 2z | oo | 2o | oy M)
A =9 ) olo|utd
201g-05-19 | MSALEL FE | Db ooy N N | ADIREE Y wmy | 50,000 50,000 I | Moo=
NSAE S| Dwwgt | orpeml | N N | AIRSIER N agima| 2 | 000 40000 W | MMIQIIZHE
A & Dennnt | Z2IN2 HACSES | yoigs| 15.000 15.000| 4 | MHoIouz=
- =0 Shxxkx* A}
o =9 olo|uad | AEICA
NAASL 22 =507 | azpmol N greisies | 2824 85.000 85.000|
=& =T AL =l =
- =0 Shxxxxx A}
o =9 |ojutx
I'ﬁﬁi%'*d D_Id&', } o1p|gi0l N gﬁ"&g’éo E 1 156,000 156,000 | MIE
= Z=HTA
ANE =2
NSALEL =2 | ooy | opel N Mool | w3z | 20 | 17,50 350,000 | Of
oA =2 F > — —
e JHe! N MALNES | ozymm| 2 | 25000 50.000| M | MQIILHE
ANE =9 _ _ olo|urx SIAF
KNAAMSL 22| = pnng) | 012103 N N MARISIZ3 | ot 10 10,000 100,000 | O | MDHQIouEE
=E: = X130p
NEMEL 2 ey IHeo! N WHSHES ) 2zpmm| 20,0000 20.000| Box | MHQloLH=
GIAE =2 N ool | A=A _
NSAE 22| 2o | geimel N AA==S JJ'(F 3 250000 75.000| Of | MolouEE
EINGIEE _ o] —
mﬁ%a%lfd s | gelmol N gﬁ'g'g'éo Pokg | 5 25000 125.000| = | MHQIouH=
oAAlE| =< o|o|ut> EETDN —
I'ﬂﬁ%' FA | Qeeesr | 22O gﬁ';g'eo EE‘—%E 5 20,0000 100,000 | JH | Aifolole =
AN =S oot =2
NHAEL SR Downss | 22D JARSIES | HIOSE 5 1 12,000 60.000| M | MAHROIZBE
oAl =2 oga | = E=:
NEAEL T2 s | BZOIR gAsis=S | SO 2,000 10,000 M | MHeloLZHE
oAls| =< +2A = =
NEME FE | s | 221wl N e > - 50,000 100.000| K | MolouHE
o o Shkxxxxx A}
o] S —
2018-06-29 I'“_i?%'*J E—z SR N Dot Ep3 El2 7 | saog OB m
= X :

A2ZHE U2 XIZEH 2/3




HI

- < .
5| o H 3 )
[®Xe] (e] () o — O
OO O [ee) o N GO
| NS | S | = | & 82
n | — ) & 3 |
[@) [e) [@)
.| g8l 8| 8]|s8
D o o) o =)
0 = < N 0 3
<F -
_ ) = |
8 | B S S | um
o | © e 8l | J-io
) ol
KE KE
o a |
g (B IS I
3 o0 | Toy0M | 7oy
e 0 | OHZ) | OWop
w O | O% | TSk
m
0
ok =
I+
m
A
NS
g
| @ I D ml._w
x_ 3 s 0 0
ol [z 80 80 8y
ok D
S L T L=
= | X ar<d  [Ar<y -l
b ] S LSO -
oF) *__A_.om_‘Hﬂ,AHﬂ.A xR0
ok | % = oJE0  [HJE0  [x KO
o) Klo Ko ir <
or or on or
Ew ok 0k 0F 10
ol Hio ol Ai0 ol Hi0 ol Hio
mﬂm =n0 | =fo | =m0 | =no
ok | & ar ar ar
= = = =
N =2 ~
a5 | g T
.3 B > |
K N K
S| 8 - S )

3/3



